Abitozione = 113,00 mq
m Balcone =39,87 mq/3= mql3.29
balcone
Scala =19,80 mg/2= mq.9,90 mq. 7,67
— T Posto auto =135,00 mq/4= mq.3,75 — .
Superficie commerciale= mq.139,94 I
| |
letto é.o.WmM.o 5
b -9y
mq. 9,00 S, md Y *
— T = — — F—————
_ “ _ _ anti-w.c.
B . cucina mgq. 1,53
mgq. 14,30
rip. cucina
I mq. 4,02 mgq. 11,92 letto .
letto mq. 9,
mgq. 9,00 I
————— | — .
| —
H -
disimg
mq. 4 \ bagno
bagno | — || mgq. 4,80
mq. 4,18 u w, @
i
— )
9 salone
mq. 30,50
—] salone
~ == mq. 42,37
_ letto
letto mq. 18,60
mgq. 14,40
r‘ _ balcone
—— .29,43 v
a ‘I' mgq [ N\ | 1 I [
_| L balcone
mgq. 12,57

PIANO SECONDO

Scala 1:100

Abitazione = 130,28 mq
@ Balcone =20,24 mq/3= mq6.75
Scala =19,80 mg/2= mq.9,90

Posto auto =15,00 mq/4= mq.3,75
Superficie commerciale= mq.150,68




